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New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the
coming Term End Examination. To get the candidates acquainted with the new system,
now assignment answer is to be given in the specific space according to the instructions.
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1. Q-CIIE w6 2eF Ted e ¢ 10 x 2 =20
Answer any two questions :
a) Q) O SR Yo (S39 =TS AU Yo (ST T | (S 2 6
Finite rotation is not a vector though the infinitesimal rotation is. Why ?
i) flxy z)=e Y cosz SEFFIL
(1,1,0) R @R e 7 sifwe qfem fNom s 2 4
Find the direction along which the function f(x, y, z) = e~ Y cos z indicates
maximum increment at the point ( 1, 1, 0).
A AN AN
b) i) 3x2yi+(x3+1)]+9z%k (539 Cvalb A Nl T @I CFADH Req ol
T | 4+9
Show that the vector field
2 A 3 A 2%
3x“yi+(x° +1)j+9z“k is a conserved vector field. Find its potential.
- A A P
i) r=acosoti+asinoet SN’ & @Ew ofe Foe @ 2 4
> A . A
If r=acoswti+asinwt j, then what type of motion is indicated by the
above equation ?
2 2
0 1 0
o i —f=——f—<rw. AR T T P | 6
2 2 2
Ox c® ot
. . 9% 1 8%
Find the general solution of the wave equation > -5 -
ox ce ot
y
ii) Y, L e o ARell T S | 4
dx = 2 2
Yy
Solve the differential equation d_y + L £
2 2
X X
d i

ii)

£(x) 3 @56 o oo 2 w@ £ (k) @=e If(x)dxﬁﬁWW"fW?

3+3
If f( x) be an even function, then what are the nature of the function f' (x)

and J-f(x)dx?

x-S FFO N &) Nbe S<pet ANpeeifba [i#ig g ey e |

2
d d

(1-x2)2 Y _ox Y a(r+1)y=o0. 4
dx2 dx

Find the singular points of the following differential equation for continuous

value of x :

2
d d

(1-x2)2 Y _ox Y n(r+1)y=o0.
dx2 dx
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2. Q@ folt eitam Te e ¢ 6x3=18
Answer any three questions :
> 5 -
a)  Gauss @38 Stokes @3 TN IR IR &N FFF V. (Vx A)=0. 6

> 5 o
Prove that V.(V x A)=0 using Gauss’ and Stokes’ theorem.

b) @I SRR ARG T ¢

flx) =0 T -Z<x<0
=X @ o<x<l
2 2

£ ( x)-43 Fourier JM=ET FefX e | 6

A function is defined as follows :

f(x) =20 when —ngSO

= % when 0<x<

N

Find the Fourier expressions of the function.

- o o e e e e I e -> 2> >
c) ANIIFT(@, Vx(AxB)=(B.V)A-B(V.A)+A(V.B)-(A.V)B. 6
- -S> > e . I I I e i < - > >
Prove that Vx(AxB)=(B.V)A-B(V.A)+A(V.B)-(A.V)B
d P(A)=04, P(B)=x, P(AU B)=0"7.
A @3 B IR (i) TR0 @32 (i) FoW ZET x-aF N ofF ey | 3+3

P(A)=04, P(B)=x, P(AU B)=07.

Find P ( B), if the events are (i) mutually exclusive or (ii) independents.

> > o > - =5
el ANIPPTA, o.{rx(oxr)}=|oxr| 6
- o5 o > > =5
Provethat o.{r x(oxr)}=|oxr]|
f) o O I8 O SPIEE AN o ey | 6

Find the geometric shape of a homogeneous cable hanging on its own weight.
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3. @@ o oeag Ted ae ¢ 3x4=12

Answer any four questions :

a)

b)

@fo eI x, Poisson’s-as I6 @ (N bET AT 90 WH m = 3-1. @9 N 2 RS

RIS T T | 3

A variable x follows Poissons distribution whose mean value is 3-1. Find the

probability for x = 2.

> 2> o> > - -
V.A=V.B 3@ A=B sz aw 3

T T .
V.A=V.B then whether A=B ?

- > -5 o -
a @36 WE (@3 2@ (F, Vx(axr)= 2a.

- > -5 o> -
If a is a definite vector, then show that Vx(a xr )= 2a.
o I &, (ANB)U (ANB) = (AAB). 3

Prove that (AN B)U (A NB) = (AAB).
E(x)=1 @R y=2-3x2E E (y) -a43 N 7 27 | 3

If E(x)=1andy=2-3x, then find the value of E ( y).

e e - >
=& A,B,C @38 D (939 b O3 NG IKE FAE ? 3

-5 > > >
Under which condition A, B, C and D will be Coplanar ?

A - A A - A
ix(axi)+jx(axj)

_)

k (ax@)@aﬁrﬁfﬁﬁwﬁcﬁ[wﬂ| 3

+ KX
A D> A A D> AL A DA
Evaluate the vector i x(axi )+ jx(axj)+kx(axk).

T (I SCFFREE o 8 S AP M8 RO @ T — Sfeb e s | 3

Show that any function can be expressed as a summation of an even and odd

function.
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